BeYAME ABCD ©| AB, OD 9101 AE = A
CF /M 958 5 4 B, F 2 32 1, 0AECF
= of® Az Hlix] atelet.

o

%) o] Baysha 1Ao7t Pk,




2.

ohg 7 22 BYAY ABCD 9| Hol7t 509 1, o} T2 R
of Yol g Fotolat.

A D

\VAR 4
0
i

25

B

W&ol g A Pl tisto %DABCD = APAB + APCD =

APAD + APBCo|EZ

APAD + APBC = % x50 = 25




3.

718 ABCD 7} B ee] s sk vy o & x4y o @S
Tsfofet.

AD = BC ©]oJoF FE2 2x + 3 = 5x — 3 o] A]
3x=06

Lx=2

E,AB=CD A y=x+10]22




4.

ke 7o) HaPAhEE ABCD oA A
o @A BC o dgAel 2de F e

T-sholet,
> E: o
> dE D 18cm

~&B

AEAD = AEFC (ASA%®%)
AD =CF =9cm

AD =BC =9cm
-.BF = BC + CF = 18(cm)




& % DABCD 7t BaAAHH
=z

o of, A H
oEFGH 7} HdAE o] 5= 2

9

K
Zal

® EH =FG
@ (FEG = (FGH
G)EH - TG, BF - HG
@ /EFG = /GHE, /FEH = /FGH

® HG =HE, FG = HG

S5
AAEH, ACGF ©|A AE = CG, AH = FC, /EAH = /FCG
(SAS &%)
AEBF, AGDH °|4 EB = GD, BF = HD, (EBF = /HDG
(SAS 3%
1322 EF = HG, EH = FG ©|2% oEFGH &= HJAIAY
o|tt.




ot

A

ﬂd
e

B
mlo
[
o
s
iy
ol

BN it rlo
Y
c
flo
O

=]
o
el
oli
-
o

>

rE

ofl

o

" I
M &

>

3 ABCD 9] tjz+Al
-]P’ Q&Rss % ;]g-%

D

}-U

S

X

@ 3 #pe] o] Wayska 1 Lol7t ek
® % Aol kel 277} 242t gk

o, o

AC,BD 9ol AP =

OABCD &= HJAHFo|n2
AO = CO,BO = DO ©o|t},

AP =CQ,BR=DS o]0 &
- PO =QO,RO =S50




7. o I3 Zol FPAHY ABCD O] WiFel & H PE S ),
OABCD 9] 5 0]+= 60cm? ©]11, AABP 9] Ho]i= ACDP 9] Ho]9] 2
#i < ), ACDP 9] HolE 514 ?

A D
P
B C
® 5cm? @)10cm? @ 15cm?
@ 20cm? ® 25cm?

5ol g 4 Poj tsto] éDABCD = APAB + aPCD =
APAD + APBC©o|E 2

1
AABP + ACDP = S0ABCD olt},

AABP = 2ACDP |22 3ACDP = %DABCD

~ ACDP = éDABCD = 10(cm?)




S F3PAIHES ABCD oA /BAC 9] o]5HA410] BC 9] 54
Ui, AF =5, AB=6, OC = 3% u], AACE 2] E¢& F5l4H

® 20 @ 21 @22 @ 23 ® 24

(AFB = /CFE, /BAF = /(FEC©]i1, BF = FCo|E&
AABF = AECF o]t}
w2tx] AACES] &= 6 +6+ 5+ 5 = 22°]|t},




9. AD = 80cm Q! HIAHHY ABCD oA H P = 3em/s o] 2
A A oA HAA

4D = &40, H Q & Tem/s o H==2 &
AH C oA £34 B = A%k A P 7 F2]0]7] A&t 4 =
Fol 4 Q7F AU A P 7L 34204 B 2 Fo 0AQCP 7}
HaAugo] w71
AAPVD
B Q C
D6ex% @7 23 @8z
@

b
o
©
=
b

o

~&B

AP =QC 7 8 W7HA A P 7 220 A7 x ek 5
3x=T(x—4)

3x=T7x—-28, 4x=28 .. x

7(2)




OABCDE= AB = 6cm, AD = 8cm ¢l I3AH P o)1, DEE /D 9]
o|5EAYU ufj, CES] Zo]E F5H?

A/r8cm\\\D

17

/
|
\
B E C

@ 2cm @ 3cm @ 4cm @ 5cm ®)6cm

DF 9] 4413} AB7} b 48 F et slah, 1ei9 aAFD =
(ADF = /AFDO|E 2 o|5HAZlgo] 5lB=2 AD = AF =
8cm, BE=8-6 = 2(cm), BE = BF = 2cm ©|t}.

-.CE = BC - BE = 6cm ©]t}.




